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Section : General English

Q.1 Choose the word that can substitute the given sentence.
A building where an audience sits

Ans X 1. Aisle

x 2. Hanger

X 3. Gymnasium
o 2. Auditorium

Question ID : 23908747
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate option to fill in the blank.

He
Ans X" 1 had hanged

J 2. hung
X 3. hang
x 4. hanged

his portrait in the main hall.

Question ID : 23908734
Status : Answered
Chosen Option : 2

Q.3 Choose the correctly spelt word.

Ans X 1. Anthusiasm
x 2. Enthusiesm
( 3. Enthusiasm

X 4. Entheusiasm

Question ID : 23908749
Status : Answered
Chosen Option : 3

Q.4 Choose the word that can substitute the given sentence.
A book of names and addresses

Ans X 1. Diary

J 2. Directory

#< 3. Dictionary

x 4. Journal




Question ID : 23908748
Status : Answered
Chosen Option : 4

FRESHERS N

Q.5 Select the most appropriate synonym of the given word.
Misfortune

Ans X" 1. Benefit

J 2. Calamity
x 3. Support

x 4. Miracle

Question ID : 23908741
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate synonym of the given word.
Capable

Ans  of 1 Competent
x 2. Conceited
x 3. Complacent

x 4. Consistent

Question ID : 23908742
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
Mohan is pleased at the news yesterday.

Ans x 1. No Improvement
J 2. was pleased
X 3. had being pleased
x 4. has been pleased

Question ID : 23908732
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate antonym of the given word.
Comic

Ans x 1. Tickle
x 2. Happy
J 3. Tragic
75 4. Jubilant

Question ID : 23908744
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate option to substitute the underlined segment in the given




sentence. If there is no need to substitute it, select No Improvement. [ )
The doctor has reassure me that the operation was a routine one.

Ans X 1. No Improvement

FRESHERS NOW
J 2. had reassured me

X 3. is reassured me

x 4. reassure me

Question ID : 23908731
Status : Answered
Chosen Option : 2

Q.10 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
Over my dead body
Ans ( 1. Opposing something fiercely
X 2. Inheriting to fortune
x 3. Erecting a grave stone

X 4. Threatening to kill oneself

Question ID : 23908745
Status : Answered
Chosen Option : 1

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

The bullet struck a wall and was from its course.
Ans X" 1 reflected

X 2. twisted

J 3. deflected
X 4. crashed

Question ID : 23908751
Status : Answered
Chosen Option : 2

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

My aunt/sold her boutique/to a billionaire.
Ans X" 1. to a billionaire

x 2. sold her boutique

X 3. My aunt
J 4. No error

Question ID : 23908728
Status : Answered
Chosen Option : 1

Q.13 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
To end in smoke

Ans X" 1.To do one's duty well

X 2. To not agree to something




x 3. To be the cause of a quarrel

J 4. To come to nothing
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Question ID : 23908746
Status : Answered
Chosen Option: 3

Q.14 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

All the students/is done/better this year.
Ans X" 1. All the students

J 2.is done

x 3. No error

X 4. better this year

Question ID : 23908727
Status : Answered
Chosen Option : 2

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Rakesh is foolish/to said/such things.
Ans J 1. to said

x 2. No error
X 3. such things
x 4. Rakesh is foolish

Question ID : 23908729
Status : Answered
Chosen Option : 1

Q.16 Choose the correctly spelt word.
Ans x 1. Financialy

J 2. Financially
x 3. Finantially
x 4. Finencially

Question ID : 23908750
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate antonym of the given word.
Inexpensive

Ans J 1. Dear

x 2. Reasonable

x 3. Popular
x 4. Liberal

Question ID : 23908743
Status : Answered
Chosen Option : 4




Q.18 Select the most appropriate option to fill in the blank.
My teacher is the of all.

Ans  of 1 kindest
75 2.kind
X 3. kinder
75 4. kindly

=)
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Question ID : 23908733
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 19
Q.19 Select the most appropriate option for blank No. 1.

Ans X 1 relate

x 2. relation
J 3. related
x 4. relates

Question ID : 23908736
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3)___ human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 2.

Ans  of 1 of
X 2. for
75 3. with
X 4.in

Question ID : 23908737
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) ____ will stop the transmission of disease.




SubQuestion No : 21
Q.21 Select the most appropriate option for blank No. 3.

Ans ( 1. Preventing
X 2. Hampering
X 3. Prohibiting

X 4. Facilitating

-
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Question ID : 23908738
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 22
Q.22 Select the most appropriate option for blank No. 4.

Ans X" 1 ignores
x 2. paves
W 3.aims
x 4. directs

Question ID : 23908739
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 23
Q.23 Select the most appropriate option for blank No. 5.

Ans  of 1 that
X 2.who
X 3. whom
75 4. these

Question ID : 23908740
Status : Answered
Chosen Option : 2

Q.24 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.
lam of winning the competition.

Ans X1 resistent

« 2. confident




x 3. pertinent

X 4. reliant

Question ID : 23908752
Status : Answered
Chosen Option : 2

Q.25 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
Who can prevent you from getting married now that you are within age?

Ans X 1.in
(2. of

X 3. No Improvement

X4. on

Question ID : 23908730
Status : Answered
Chosen Option: 1

Section : General Intelligence & Reasoning

Q1 v Fer F A & T T A # @ sER Aget Fer @ ) dies A 98 e et
T S g m?

Ans

A‘éox;g
V&OW

Hopn
wow

Question ID : 239087304
Status : Answered
Chosen Option : 3




Q.2 Uk e WIST H, ‘PRINT ol ‘96512 forar wirar & ik ‘FROM'’ @t ‘8603’ forar sirar &1 3¢ ge

AT & ‘PROMPT’ aRT <hiS <RIT gITIT?
Ans X" 1960398

o 2960392

/< 3.980392
75 4.960395

-
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Question ID : 239087287
Status : Answered
Chosen Option : 2

Q.3 fFA=fafad el d 9 39 rez @t gfag ot Fafaf@a sjiaen § iR o & S+ awe @ Safda

2 9 oRe @ g1 21z uge 2ree @ Weifa g1
T[T : AR 2 AT : ?
Ans (Lqﬁ;g
X 2. @R
/< 3.9
/X 4. ueht

Question ID : 239087282
Status : Answered
Chosen Option : 1

Q4 R amw Yoot F eAETEE AeTs FY AR 3W A F T S g R () F T W oamwei

%
BE

v

Ans

2] & [ 65

Question ID : 239087301
Status : Answered
Chosen Option: 1

Q.5 Prefarae R 4 @ T sier g gfg 5t Prafafle siaer 3 e ser 7w & o e

@ Hafda g, e ave & T 918R i Uge 91gR g § Hafda 81

PB:UW:JT:?

Ans X 1.NO




W 2.00 (J
X 3.M0 ’
x 4. PP FRESHERS NOW

Question ID : 239087284
Status : Answered
Chosen Option : 2

Q6 g M@ # AT S A Ru e T F S F Gy T THER F gl g

"% QD

Question ID : 239087305
Status : Answered
Chosen Option : 2

Q7 o= v EUT FABYIW W @ A LA AT A € gty Fr 7 o ofy A gl

7

—A V

—V V

A
A




b
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Question ID : 239087303
Status : Answered
Chosen Option: 2

Q.8

Ans

Qeh ghe MTHT H, ‘TAN' @i ‘33’ forar sirar g $iik ‘PAM’ @t ‘28’ forar sirar g1 3¢t e wrem J ‘BUG’
hT hIS T gIIT?

K132
X 2.29
W 3.28
/X 4.30

Question ID : 239087288
Status : Answered
Chosen Option : 3

Q.9

Ans

A g faereal & 9 3w e @ g 5t Aol siaen 9 us fRig (?) & wum= R st
43,31, 74,105,179, ?

X 1.279
o 2284
/X 3.204
/X 4.263

Question ID : 239087294
Status : Answered
Chosen Option: 3

Q.10 a3} RgY, 'x auT +' & U & ge fear sirar @ af Rafafad d @ wi= a1 gt a8 ghm?

Ans

K 1.14+62x13+31=38
o 214+9:23x3=83
K 3.11x12+48+6=40

/X 4.63+59+4x8=171

Question ID : 239087299
Status : Answered
Chosen Option : 2

Q.11




T ov e F1 wmEE aremE # AR 3w wEw @ g9 S weA e () F ' W s

4 11 19
5 6 0
2 15 3
18 30 ?

Ans x1_ 20
X2 24
<3 18
v 22

-
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Question ID : 239087297
Status : Answered
Chosen Option : 4

Q.12 7 Ry faereal & & 39 s12R g o6l ghg st Fafof@a sfaar S us Rg () F s w
ST

KP, HM, EJ, BG, ?

Ans X" 1 xC
o 2.0
X 3.ZE
X 4.vc

Question ID : 239087281
Status : Answered
Chosen Option : 2

Q.13 frw =w fwest & & 30 eaw A g o AN & 7 el e B R & g
& Aty w7 )

AN

SN

X2




v
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Question ID : 239087302
Status : Answered
Chosen Option : 2

Q14 fr are feedt § F 30 P F gEAT S TERRE gwer F e T W)

?

%

—en| | &
Ans

<1 |—pen

X 2 |oBdg—

<3| Dod—

v oDeb—

Question ID : 239087300
Status : Answered
Chosen Option : 4

Q.15 Qeh e |THT &, ‘GREAT’ &t ‘ALYUN’ forar Sirar &1 3%t e e & ‘RAPID’ T i o/ givm?

Ans  of 1 LUJCX
/X 2. SWLEZ
75 3.LvJcx

75 4. RVKDY

Question ID : 239087285
Status : Answered
Chosen Option: 1

Q.16 uia fohara - B, G, N, P T T Teh & SR Ueh T TS g (S Al fh A seft srm A gl) INGan G &
A el Yeh fohdTa ¥ T 81 B, P & 8ieh FUR 1B, N & W 21 G, N & SR 78 81 a8 SR

it foreTer 82

Ans «1.3




K26
53T
K oap

-
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Question ID : 239087291
Status : Answered
Chosen Option: 1

Q.17 2 g g &=t ok 3713 Frsepul @t ear= & afeq) Fuat & § 7€ ST @t wwa A g,
IR & G U 71 941 @ 1399 a8, fAofa fifSe s e mo saar/@ A, sy @
aTfher U & SITERUT Shdl/E7A &

R

LB K ME

T, MTE I

fAreen:

L3 T, KE

I.Fs M, K&

Ans X" 1 2T Frsene | qo | ERor a1

7K 2. are i | SERUT SRRl 21
75 3. ¥ oft Freene srgeRor gl o 21

of 4. e Frea || srgeRor R 21

Question ID : 239087293
Status : Answered
Chosen Option : 4

Q.18 39 A& i I Ta-1 HY T €11 2reg smaw # 3t vepR Teifda g 9w veR = R g
2TeE T o ST reg Taw | Halfdra &1

g9 : Il
Ans X 1 fRel : @er
/X 2. @R =
o 3. iR - dra-amf
X 4. % g

Question ID : 239087283
Status : Answered
Chosen Option : 3

Q.19 giga&fts - F J, N, R a1V & i 31R J@ & Geh TR A & 36-ME 98 gu & (S =16t
fFagherad )i J, F& gia arfi stk 3181 N, F & arff ok geR Tu wR 81V, J & arfi ek
TR UM W g1 J & ST 3R GER TUTH UR i AST gar &?

Ans JIR
5 2.N
< 3F
54V

Question ID : 239087290
Status : Answered
Chosen Option : 1

Q.20 HI= fRQ g AT 3R Ik frepuif it e @ ufeg | et # &t 71 SRt R W AT §Q,




TR & G FU A9 941 @ 1399 a g, Aofa fifSig s e 1o saar/a A, syt @

arfcher U & SITERUT hdl/EA &

FHY:

TS T A
gt édes g

g dg AT 1 81

fArentd:

I. o e AT &
I.Fs IR g

lll. g mEd &3 g

Ans X" 1. sy | ofR Il SR %A ]
75 2. arer e 111 SERoT gl 21
J&ﬁaﬁ?{ﬁﬁﬁﬁfllmm%l
7K 4. Freamd | 3R 11 a0 & §

-
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Question ID : 239087292
Status : Answered
Chosen Option : 3

Q.21 Qeh e |TOT H, ‘'STEALH' @t ‘UXGENL forar sirar &1 St e ot # ‘ROBNRT’ &1 shis &IT
ghm?

Ans X 1 TSERTX
/< 2. UTESUY
o 3. TSDRTX

75 4.UTFSUY

Question ID : 239087286
Status : Answered
Chosen Option: 3

Q.22 F=fafEa el d @ 39 @ &t gfag st @ e d fiad sen @ ssfraw @
Teifda & o avg @ g T ugeh S @ &6l g1

36:109::25:?

Ans x1_72
W 276
/< 3.74
75 4.78

Question ID : 239087296
Status : Answered
Chosen Option : 2

Q.23 = Ry Rt A & 39 d@n &t gfg st Fafaf@d sigen 7 us Rg (?) & = w i

69, 109, 159, 219, 289, ?
Ans X" 1349

/X< 2.359
W 3.369
75 4.379




Question ID : 239087295
Status : Answered
Chosen Option : 3

Q.24 Bg A= - C, E, G, I, KT M v il 3R 7 ek Qeh JiTehR AT & 36-A1E 93 gQ & ofik a woft
Th-TRARRPRE G T P s sma A 8)IE, C Farfi IR R gR W )R 1 K,
G & i i iR U §1 G AT | Ueh GER <l aRh SIFA-ATH+ Hg fRd gT &1 | & ardf ofie & =i
§Q 1T M & ne frad M a3 gu &2

Ans  of 13
K21
X 3.0
X 42

Question ID : 239087289
Status : Answered
Chosen Option : 3

Q.25 Tfe siek 2 3R 3ieh 1 T WRER F& g siran g af A=faf@a gvfiezor &1 A o gm?
9+46+4x21-5=2?
Ans JTZZ
X 2.23
75 3.29
X 4.24

Question ID : 239087298
Status : Answered
Chosen Option : 1

Section : Numerical Aptitude

Ul Jfr U+ V=80 FWU:V=5:3 % a@ruU-Vaaa Fami?

A of 1. 20
X215
<3 30
K 4 25
Question ID : 239087417
Status : Answered
Chosen Option: 1
A =2 gur & Hgeaw wAESE (T @ )
B =2 @ = & &gcad FATEaH (Tel H TH)
A + B & AT e 872
Ans 250
7{'1.—3T
X2

23




v

80
260

K4 =

71

-
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Question ID : 239087406
Status : Answered
Chosen Option: 3

Q.3 faeh awg @ 25% w7 Fur 37.5% @i T A= ¥ T ;Ew & 3ET T1250 ¥ @ 5@ 12.5% @y
T 9T ST & A Eer fww qew e geme

Ans 131800
X 2. 32500
X 332400
v 4 32250

Question ID : 239087414
Status : Answered
Chosen Option : 4

% 49, 62, 37, 55 TUT x T T 53 ¥ x F AT w72
Ans X1_ 56

X 2 68

X3 76

v 62

Question ID : 239087409
Status : Answered
Chosen Option : 4

Q.5 & G T Ieo-NT, TF HeE-He HEted ganT e FEed § 9eed A9eiT & FEar a7,
T F T T F AT F T F @A §1 FI-ANG F ST HE FoT B a3 §
HFET 7

FIT C6 ZINT Teed AUeidl &1 WA Fhedld HIVT (SUHT & Tk TUH o) e &l & &7
Ans X 1.51.7°

X 2 451°

V'3 396°

X 4 52.8°

Question ID : 239087430
Status : Answered




Chosen Option : 3

Q.6 foelr 3g 7 e FFa 22500 ¥ 3& HAW 12% @ 10% F & 7w gl | = v 1 oww

T e 32

Ans - X1.71870
X 232090
X '3.321760
v 4 31980

-
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Question ID : 239087411
Status : Answered
Chosen Option : 4

Q7  mgy = 39w gET F A5 ¥ 112000 HfOs ¥ A FEwr U GET & A9 W oAGT 7 0 4 F, A

AT & a1 fovaam 72

Ans  of' 1. 316000
X 2312000
~ 3318000
X 4320000

Question ID : 239087418
Status : Answered
Chosen Option : 1

@ 7+2-[30f7+4+{(2+5)x (25+8) +(5+2)]]

Question ID : 239087408
Status : Answered
Chosen Option : 2

%° DD.MM % w7 & fifEa, 9§ 2019 Hr FRTH-R (#@fXw= ) ¢

Ans  X1.01.07
X 2 30.06
v 02.07
X 4 03.07

Question ID : 239087412
Status : Answered
Chosen Option : 1




Q10 v &1 6 e F 300 e H g T7 I T & W HwA A km/h F T 2

Ans X150
V23
X312
X146

-
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Question ID : 239087423
Status : Answered
Chosen Option : 2

Q.11 v caféd 39 35 1 10% Il 9T T HaT &1 98 AT #67 #1 20% S4a I T HLa 21 Tl

3WF T 34680 99 §, S I 394 FraeT 27

Ans 1. 36000
X 235000
v 2 36500
X 4 35500

Question ID : 239087413
Status : Answered
Chosen Option : 3

Q12 o 57 & v @7 ¥ AT 8 k/h F1 IR ORT A A 2 keh B, T ORT & ofege S ge 2 9

AT e g 9 FEn?

Ans X116 km
X 2 14 km
X 3 20 km
v 412 km

Question ID : 239087424
Status : Answered
Chosen Option : 4

Q13 Tl FEagss # IRAT 20 om ¥ 3HF T T 7 wFTE 6 om ¥ gEY T Fr owers R

P

Ans - X110 cm
v'2 8cm
<39 em
<46 cm

Question ID : 239087426
Status : Answered
Chosen Option : 2

Q.14




AT H For FET & AT F T F @A §1 FeI-HNG F TSR HA RoT ThEr wated 3 H
srgere i 1

Cc6, C1,

1% " 12%
C4,
4% [ C3,
18%

FET C1 T Felr C3 & et Fr FEa F g Fhee §7

2 R T gO-3N, OF HEET-30T FEiedl canT AT Sed § Yeod ouerT @ §Edr @, .’

FRESHERS NOW

Ans 1.2 : %
X212 : 11
v2:3
X46:1

Question ID : 239087428
Status : Answered
Chosen Option : 2

Q.15 =¥ =xfFg 2 =&t ¥ fw 2500, 5 =6 & v 600 Fur 6 Fuf & BT 71000 Wit T WURCT =7 Hr
FAW T W A T §| A 7 For 21000 F WGRT TS T AT §, o T a9 3= B T
ot &7

Ans X 1.15%
X 2 5%
v 10%
X 4 20%

Question ID : 239087419
Status : Answered
Chosen Option : 3

Q.16 g T & fBF=r & sitma o 20 g 9 g ¥ =918 & 12 ==t o7 silgg 97 35 g o e B
20 vt & o wfy e sitge o e B2

Ans 51 25 g
Vw229 g
x<321g
X<4+31g

Question ID : 239087410
Status : Answered
Chosen Option : 2

Q17 ot 53g 7 15% =7 9 1725 F &=7 0w g1 ;G W 15% H @ W A= 040 § & Tww mew
foraaT grem?

Ans o 1. 31275
X 2. 31475




< 3 21025
< 4 21325
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Question ID : 239087415
Status : Answered
Chosen Option: 1

Q.18 (R:Eﬁ_)
TF T AT 6 cm gl T F HT TS I HEH T3 I F AAHA (el 87 7

—CMm

Ans v 198 5
i

318
X 2. Tcmz

252
X 3 = cm?

156
x 4. Tcmz

Question ID : 239087425
Status : Answered
Chosen Option : 1

Q19 AT R e S N BT I Tt I BararsH s A 40 Ra v mrar 21 o A D
R FTh & VAT Gl (3FEE 39) A FH &I §, o F Baat & F (gyHaa & & T
&) I § SrTen?

Ans  of 1. 34.25
<2 3233
< 3 16.33

X 417.25

Question ID : 239087422
Status : Answered
Chosen Option : 1

Q.20 gy @ Ti¥ whgfe ==t (a1t F@afem) & WA= a0 @ & a9 qeerd 4000 9w W a¥ qewne
76000 & ST &, o Tfdr fRaer 87

Ans 1. 32888.88
V' 2 32666.66
X 3.32777.77
X 4 32866.66

Question ID : 239087420
Status : Not Answered
Chosen Option : --

zgf(l +§)+(2—§) x2+ 2@ A= e 2




101

109
17

103
25
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Question ID : 239087407
Status : Answered
Chosen Option: 1

Q.22 A Fur B e el &1 & 20 7 & &7 oa §1 B T C e 58 &1 & 25 BF & a¢ moy
£ C Tur A oot 38 =18 = 15 RE & X m@ea £ A e 3@ w0 o fhae RET & w1 e
e

Ans &00

X

17
600

v

23
1200

K3 —

23
1200

X 4 20

17

Question ID : 239087421
Status : Answered
Chosen Option : 2

Q.23 #=r RET AT IeA-HNW, TF HOE-3EE FEET GG R FEAET F Teed A9eT # GEAT H,
Aerdt 1 or T F yloed F w9 F gfir ¥ gee-anw # wRwiT 4T s R aaha e s
FFAR 7 FI

Fier 3 Al et $ Fe HEAr 3800 ¥ A F9T C2 AuT C5 ¥ Suerdt B HEw # Faw e §7

Ans X 1. 382
X 2 362
V'3 342
X 4 322

Question ID : 239087429
Status : Answered
Chosen Option : 3

Q.24 o oot it wers, diEs st S FHE 15 em, 12 em @7 11 em # méafrﬁg%mm

S & 3t e 82 % wer R e ¥ el s # yREfid W@ S ) gan & (s 6
:ﬁg@ﬁaﬁmaﬂmmﬁg}mmé—mﬁ#gﬁrmﬁmmh

Ans X122 cm?2 Fr FHr




X222 cm? # Iy "

V2 7S afiEaT Jar FRESHERS NOW
X 4 33 cm? #r FE

Question ID : 239087427
Status : Answered
Chosen Option : 3

Q25 gfrx+y+2z=400 @ xiyiz=1:1:2 & Iz F T Fagar 2
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